
	Answer for Chapter 11 lines 1371 –  Chapter 12 lines 1517 

	
1)
	How will they find the Wicked Witch of the West?
When she knows you’re in the countries of the winkies she will find you and make you her slave
	1	

	2)
	Fastened a little bell around Toto’s neck with a green ribbon
What is the meaning of ‘fastened’ in this context?
	

	

	X

	

	

	

	


Tick one
                                                                               
attached 

secured

stuck

selected 
	1



	3)
	What happened to the surroundings as they left the Emerald City?
The ground became rougher and hillier, there were no farms or houses. The ground was untilled. There were no trees to shade them
	1



	4)
	Why did the Scarecrow decided to take on the crows himself?
Because he is made of straw they will not hurt him and his straw can help camouflage the others. 
	2


	5)    
	Look at line 1480, explain your understanding of the witched behaviour here?
The witch is furious because usually she finds it easy to make people her slaves, yet three times they have escaped her evil plan.
	2


	6)
	Put the statements in order from 1-6 the first one has been done for. 
	Statement

	1-5

	The Guardians of the Gate think the Witch will make them slaves
	3

	Toto, the Lion and Dorothy has a nap
	4

	The Scarecrow’s neck was twisted 40 times
	5

	The Lion saw a Ball of Fire
	1

	The Scarecrow stuffed himself with fresh straw
	2



	1

	7) 
	Why does the Wicked Witch treat the Winkies so unfairly?
Because they are her slaves
	1

	8)
	What simile is used in this extract? 
Like little heaps of coal (line 1493)
	1 

	9)
	Using information from the text, tick one box in each row to show whether each statement is true or false
	  
	True 
	False

	There were 40 wolves
	x
	

	There were 40 crows
	x
	

	The Bees were red and black 
	
	x

	The Witches cap was bronzed
	
	x



	1 

	10)
	What 3 things does the Witch try to destroy the characters and why don’t any of them work? 
She tries to send the wolves but the tin woodman kills them 
She tried to send the bees but they die because their stings get broken against the tin woodman
She tried to send the crows but the scarecrow covers the others in straw and takes the crows die
	3

	11)
	How does the Tin Woodman’s behaviour in this extract support our view of his character so far?
[bookmark: _GoBack]We’ve seen the tin woodman be protective over his friends. He protects them from the wolves and from the bees. However we have also seen the thin woodman kill the Kalidahs with his axes with he does here with the wolves,  this goes against wht he says about not ever hurting a living thing because he has killed many a thing now. Therefore supporting the point of view that he will only kill when it is a life or death situation. 
	3
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